

On Adomian Decomposition Method for Solving Reaction Diffusion Equation

G.A. Afrouzi ¹, S.Khademloo
 Department of Mathematics, Faculty of Basic Sciences,
 Mazandaran University, Babolsar, Iran
(Received 22 February 2006, accepted 25 February 2006)

Abstract: Adomian decomposition method (ADM) has been applied to solve many differential equations. In this paper we have used the Adomian decomposition method for solving nonlinear parabolic equation with variable parameters depends on time and space. We will show the existence of exact or analytic solution for a well-known reaction diffusion equation by using this method.

Keywords: Adomian decomposition method; reaction diffusion equation; nonlinear parabolic equation

AMS Subject Classification:35K55, 35K57, 35A35

1 Introduction

Recently a great deal of interest has been focused on the applications of Adomian's decomposition method to solve a wide variety of stochastic and deterministic problems, see for a survey [1-3,9]. The Adomian's goal is to find a method to unity linear and nonlinear, ordinary and partial differential equations for solving initial and boundary value problems and in this paper we shall study a well known parabolic equation.

Various phenomenon of mathematical biology, engineering and physical problems can be described by linear or nonlinear parabolic equations. These linear or nonlinear models, as well as their analytic solutions, are of fundamental importance for applied sciences.

Our object in this paper is the desire to obtain exact solutions or analytic solutions to such linear and nonlinear parabolic equations with biological variable or physical parameters.

The Adomian decomposition scheme is a method for solving a wide range of problems whose mathematical models yield equation or system of ordinary or partial differential equations (see [1]) and the exact solution for heat equation is gained by using this method in [9].

In this paper we will use the "ADM" method to provide an analytic solution for the nonlinear initial-boundary value parabolic problem:

$$\begin{cases} \frac{\partial u}{\partial t} = D\Delta u + au(1 - \frac{u}{N}) & (t, x) \in (0, T) \times \Omega, \\ u(t, x) = 0 & (t, x) \in (0, T) \times \partial\Omega, \\ u(0, x) = u_0(x) \geq 0 & x \in \Omega \end{cases} \quad (1)$$

where $D > 0$ is the diffusion coefficient, $a > 0$ is the linear reproduction rate and $N > 0$ is the carrying capacity of the environment. (see Murry [8] for details).

¹Corresponding author. E-mail address: afrouzi@umz.ac.ir

In many ecological systems, harvesting or predation of the species this model occurs. For example, fishing or hunting of the species u could happen. Mathematically, equation (1) generate a semiflow in the sobolev space $W_0^{1,2}(\Omega)$. In this logistic case, the dynamics of (1) has been completely studied by Henry in [6] and moreover it is often called Fisher's equation after Fisher [5], and it was also studied by Kolmogoroff et. al. in [7].

Here we want to solve this problem by using "ADM". The paper is organized as follows, in section 2 we present the analysis of the ADM applied to linear and nonlinear parabolic problem, in section 3 we apply this method for solving our problem and find an analytic solution.

2 Adomian decomposition method

Adomian (see [2],[3] for example) asserts that the decomposition method provides an efficient and computationally convenient method for generating approximate series solutions to a wide class of equations. In order that this paper will be reasonably self-contained, we describe here how this method is applied.

We consider problem (1) in the one dimension space e.g. $\Omega = [0, \pi]$ and $T = 1$ and so for the real value $u(t, x)$, the reaction diffusion equation has the following form

$$u_t = Du'' + au(1 - \frac{u}{N}) \quad (2)$$

with initial-boundary conditions

$$\begin{cases} u(t, 0) = u(t, \pi) = 0 & t \in (0, 1), \\ u(0, x) = u_0(x) \geq 0 & x \in [0, \pi]. \end{cases} \quad (3)$$

The equation (2) can be written as

$$L_t(u) = DL_x(u) + N(u) \quad (4)$$

where $L_t = \frac{\partial}{\partial t}$ and $L_x = \frac{\partial^2}{\partial x^2}$ and $N(u) = au(1 - \frac{u}{N})$.

If we operate the two sides of (4) with the inverse of the operator L_t , we have

$$u(t, x) = u(0, x) + DL_t^{-1}L_x(u) + L_t^{-1}N(u).$$

Substitute initial condition of (3) in the last formula we get

$$u(t, x) = u_0 + DL_t^{-1}L_x(u) + L_t^{-1}N(u). \quad (5)$$

To solve problem (2-3) by Adomian decomposition method, we work as usual in this procedure: we decompose the unknown function $u(t, x)$ by a series of components defined by

$$u(t, x) = \sum_{n=0}^{\infty} u_n(t, x) \quad (6)$$

and a series of Adomian's polynomials for decomposition of nonlinear term $N(u)$ such as:

$$N(u) = \sum_{n=0}^{\infty} A_n(t, x). \quad (7)$$

The polynomials A_n are given by the following general algorithms

$$A_n = \frac{1}{n!} \left[\frac{d^n}{d\lambda^n} N(u_\lambda) \right]_{\lambda=0}, \quad n = 0, 1, 2, \dots \quad (8)$$

where we write

$$u_\lambda = \sum_{n=0}^{\infty} \lambda^n u_n.$$

For example

$$\begin{cases} A_0 = N(u_0) \\ A_1 = u_1 N'(u_0) \\ A_2 = u_2 N'(u_0) + \frac{1}{2} u_1^2 N''(u_0) \\ A_3 = u_3 N'(u_0) + u_1 u_2 N''(u_0) + \frac{1}{6} u_1^3 N'''(u_0) \\ \dots \end{cases}$$

the remaining components $u_n(t, x)$ can be calculated as follows:

$$\begin{cases} u_1 = \int_0^t (Du_0'' + A_0) dt \\ u_2 = \int_0^t (Du_1'' + A_1) dt \\ \dots \\ u_n = \int_0^t (Du_{n-1}'' + A_{n-1}) dt. \end{cases}$$

So we can calculate the terms of $u(t, x) = \sum_{n=0}^{\infty} u_n(t, x)$ which is approximated by

$$\phi_m[u] = \sum_{n=0}^{m-1} u_n.$$

We can choose m such that the approximation $\phi_m[u]$ has desired accuracy, with more terms then we will have more accuracy.

In the next section we will apply this method for the problem 2-3.

3 Examples

Example 1. Consider the nonlinear parabolic problem (2-3) with initial condition $u(0, x) = 1 \geq 0$ on $[0, \pi]$, thus we have

$$\begin{aligned} u_0 &= 1 \\ u_1 &= \int_0^t (Du_0'' + A_0) dt = a(1 - \frac{1}{N})t \\ u_2 &= \int_0^t (Du_1'' + A_1) dt = a^2(1 - \frac{1}{N})(1 - \frac{2}{N})\frac{t^2}{2} \\ u_3 &= \int_0^t (Du_2'' + A_2) dt = [a^3(1 - \frac{1}{N})(1 - \frac{2}{N})^2 + a^2(1 - \frac{1}{N})^2]\frac{t^3}{6} \\ u_4 &= \int_0^t (Du_3'' + A_3) dt = [a^4(1 - \frac{1}{N})(1 - \frac{2}{N})^2]\frac{t^4}{24} + [a^4(1 - \frac{1}{N})^2(1 - \frac{2}{N})^2]\frac{t^4}{8} \end{aligned}$$

and so on, the solution $u(t, x)$ in the series form is given by

$$u(t, x) = \sum_{n=0}^{\infty} u_n(t, x).$$

Example 2. Consider the nonlinear parabolic problem (2-3) with initial condition $u(0, x) = x \geq 0$ on

$[0, \pi]$, thus we have

$$\begin{aligned}
 u_0 &= x \\
 u_1 &= \int_0^t (Du_0'' + A_0)dt = ax(1 - \frac{x}{N})t \\
 u_2 &= \int_0^t (Du_1'' + A_1)dt = [D^2a(1 - \frac{2}{N}) + a^2(1 - \frac{2}{N})(1 - \frac{x}{N})x^2] \frac{t^2}{2} \\
 u_3 &= \int_0^t (Du_2'' + A_2)dt = [D^2a^2(1 - \frac{2}{N})^2x + a^3(1 - \frac{2}{N})^2(1 - \frac{x}{N})x^3 + a^3(1 - \frac{2}{N})x^2(1 - \frac{x}{N})^2] \frac{t^3}{6} \\
 u_4 &= \int_0^t (Du_3'' + A_3)dt = Da^3(1 - \frac{2}{N})\{(1 - \frac{2}{N})(6x - \frac{12}{N}x^2) + 2(1 - \frac{x}{N})^2 \\
 &+ 6(1 - \frac{1}{N})(1 - \frac{x}{N})x + 2x^2(1 - \frac{1}{N})^2(1 - \frac{x}{N}) + D(1 - \frac{2}{N})^2x^2 + \frac{a^2}{D}(1 - \frac{2}{N})^2(1 - \frac{x}{N})x^4 \\
 &+ \frac{a}{D}(1 - \frac{2}{N})(1 - \frac{x}{N})^2x^3\} \frac{t^4}{24} + Da^3(1 - \frac{2}{N})^2[D(1 - \frac{x}{N})^2x + a(1 - \frac{x}{N})x^3] \frac{t^4}{8}
 \end{aligned}$$

and so on, the solution $u(t, x)$ in the series form is given by

$$u(t, x) = \sum_{n=0}^{\infty} u_n(t, x).$$

Example 3. Consider the nonlinear parabolic problem (2-3) with initial condition $u(0, x) = \sin(x)$ thus we have

$$\begin{aligned}
 u_0 &= \sin x \\
 u_1 &= \int_0^t (Du_0'' + A_0)dt = (-D \sin x + a \sin x(1 - \frac{\sin x}{N}))t \\
 u_2 &= \int_0^t (Du_1'' + A_1)dt = [D(D \sin x - a \sin x - \frac{2a}{N}(\cos^2 x - \sin^2 x)) \\
 &+ a \sin x(1 - \frac{2}{N})((a - D) \sin x - \frac{a}{N}) \sin^2 x] \frac{t^2}{2} \\
 u_3 &= \int_0^t (Du_2'' + A_2)dt = [D(D - D^2) \sin x + \frac{8aD}{N}(1 - 2 \sin^2 x) + aD(1 - \frac{2}{N}) \sin^2 x \\
 &+ 2\frac{a^2}{N}(1 - \frac{2}{N}) \sin x(1 - 2 \sin^2 x) - aD(1 - \frac{2}{N}) \cos^2 x + a^2(1 - \frac{2}{N}) \cos^2 x \\
 &- 2\frac{a^2}{N}(1 - \frac{2}{N}) \sin x \cos^2 x - a(a - D)(1 - \frac{2}{N}) \sin^2 x + \frac{a^2}{N}(1 - \frac{2}{N}) \sin^3 x \\
 &+ a(a - D)(1 - \frac{2}{N}) \cos^2 x - \frac{a^2}{N}(1 - \frac{2}{N}) \sin x \cos^2 x + a(D^2 - aD)(1 - \frac{2}{N}) \sin^2 x \\
 &- 2\frac{a^2D}{N}(1 - \frac{2}{N}) \sin x(1 - 2 \sin^2 x) - a^2(D - a)(1 - \frac{2}{N})^2 \sin^3 x + \frac{a^3}{N}(1 - \frac{2}{N})^2 \sin^4 x \\
 &+ a(a - D)^2(1 - \frac{2}{N}) \sin^2 x + \frac{a^3}{N^2}(1 - \frac{2}{N}) \sin^4 x - 2\frac{a^2}{N}(1 - \frac{2}{N})(a - D) \sin^3 x] \frac{t^3}{6}
 \end{aligned}$$

and so on, the solution $u(t, x)$ is in the following form

$$u(t, x) = \sum_{n=0}^{\infty} u_n(t, x).$$

4 Conclusion

In this paper, the Adomian decomposition method has been applied for solving reaction diffusion equation. For an unbounded domain in any dimension, we recover the power series formula of [4], which is much simpler than the classical formula. Further, we accommodate the decomposition method to deal with Dirichlet, Neumann, and mixed boundary conditions. In comparison with other tools this method, give us a very better approximate solution.

References

- [1] K. Abbaoui, Y. cherruault: Convergence of adomian's method applied to differential equations. *Comput. Math. Appl.* 102, 77-86(1999)
- [2] G. Adomian: Nonlinear dissipative wave equations.*App. Math. Lett.* 11(3), 125-126(1998)
- [3] G. Adomian: Solving frontier problems of physics.*Kluwer Academic.*(1994)
- [4] H. Chen:The poison formula revisited.*SIAM Rev.* 40(2), 353-355(1998)
- [5] R.A. Fisher: The wave of advance of advantages gens.*Ann. Eugenics.* 7 , 353-369(1937)
- [6] D. Henry: Geometric theory of semilinear parabolicequations. *Lecture note in mathematics 840. Springer-Verlag: Berlin-New York.* (1981)
- [7] A. Kolmogoroff, I. Petrosky, N. Piscounoff: Study of the diffusion equationwith growth of the quantity of matter and its application to a biological problem. *Moscow Univ. Bull. Math.* 1, 1-25(1937)
- [8] J. D. Murry: Mathematical biology, Second edition. Biomathematics, 19.*Springer-Verlag: Berlin*(1993)
- [9] A. M. Wazwaz, A. Gorguis: Exact solutions for heat-like and wave-like equations with variable coefficients.*Appl. Math. Comput.* 149,15-29(2004)